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They were both decreed on the same day — 1973 2192 12 9779990

OVERVIEW

27 R 77 27 explained the reason ¥"1 only said w7pn2a 2>7 DRM™IY PRY 11°07 (and
did not say 0°93 also) because 2>7° N was made before 2°25 nxmw (and there
was no 0% nXmw at that point).! 821 asked but we learnt in a 7wn that 27> and
0°%5> were both decreed by the 927 " on the very same day. Mmoo explains what
X217 meant by 17731 21°2 12 377N,

nooIN asks:
- 29t AW YNPY 01T NN

It is astounding! For 7277 %@ was 2113 the 7820 of 297 for w7, which was much
before the 77°13 of 2°%3 XML (from PPWn), so how can X2 state 1713 212 12 177170 ?!

n90IN answers:
= YINN NNAY INP 9347 NN NAPY 2297 99D U

And one can say that ¥'"9 (when he said "1°21') was referring to the 227 n''s,
which was enacted recently (slightly before the era of ¥"9) -

$VTPNA DT NRMIV NN INT XD D77 93972 IPOYYI 937 17793 9INRD 99N
And this is what y"7 stated; when they were discussing the laws of 2°7> nxmw
by the 737 "> the 01511 did not want to be 297> nx»1 713 in the wTpn.’

SUMMARY
¥"7 was gratified that at the 727 11" they did not enact w7pna 7> N1V, so why did
he also not mention that they did not enact w7pn2 2°22 nX»W ‘on that day’.

THINKING IT OVER
Is mooIn question valid,* even according to the previous® mooin that 3" lived after
the 727 1" n1a?°

'See o7 "7 "

* By the 127 1" they were 721907 27 nxmiw 703 (and 2°95 nXmIw) however here we are discussing WP 27 NRPIY 80
¥"9 said 12°01 that wpna [wnpo] 07 nXmw PR, See “Thinking it over’.

? Therefore X2 properly challenged the answer of 27 7»x "9 (that 07> was 711 before 0'2), that since "1 was
expressing gratitude that when they enacted the 7127 "> (including 717n? 0>7° and 2°%5 NXRMW) the 0on saw fit not to
make W7pn3a 0°7° NXMY at that point, why did he also not include w7pna 0¥9> nkmw (for they did not enact that either),
since they were both not enacted ‘on that day’.

* See footnote # 2.

> xmn 7"7 [TIE footnote # 10].

% See X"wAn.
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